TRk 11 FERLR R AR E = BB E RE R

No. 1 2
B F O = st EtEHh Eteh Eteh EtEh EtEh ImfE AT REX
DRI L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041 < 041 < 01
£n < 0.005 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
oAy, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—<oonx4y|< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—o4ooaxFLy | 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vz2—12—ssanzFLy | 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—r)»ooz4e[< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 0.001 < 0.0005
1,1,2—k)pooz4e < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
k)oanxTFL 2 |< 0.002 0.004 < 0.002 < 0.002 0.003 < 0.002 < 0.002 < 0.002
ThZyOOTFL 2 |< 0.0005 0.033 < 0.0005 0.0008 < 0.0005 < 0.0005 0.0005 < 0.0005
1,3—<soa7axa|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FI5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FAARAILT  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
BERMERRUERBEEER 1.4 3.5 0.03 4.9 3.7 5.9 6.2 < 0.01
SDOFR 0.09 < 0.08 < 0.08 < 0.08 < 0.08 0.08 < 0.08 < 0.08
ESES 0.03 0.05 < 0.02 0.03 0.04 0.04 0.04 < 0.02
* RCIE B CHIE FRIENELZSED(X. AIEHEDEWNIZLDIED,




TR1I1EE

No. 10 11 12 13 14 15 16
Bl F o X X BILX BILX EBILX BERX HEHET H o H BT
ARSH L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 0.006 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
THoOomiay < 0.002 0.015 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—>ooax4[< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—ooozFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
sz—12-sonnzFLy |< 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
111—rysooz4e|< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 0.0012 < 0.0005 < 0.0005
112—rysaoz4s|< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
kK)sooTFLy (< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.011 < 0.002 < 0.002
Fr57aaITFL2 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 0.0044 < 0.0005 < 0.0005
1,3—>snn7n~>|[< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FISL < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
RO < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FARAILD  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R ERRUERBEESR 0.01 - 0.01 < 0.01 < 0.01 8.2 1.6 8.1
SoFE < 0.08 - < 0.08 < 0.08 0.32 < 0.08 < 0.08 < 0.08
ESES < 0.02 - < 0.02 0.03 0.31 < 0.02 0.02 0.05




TR1I1EE

No. 17 18 19 20 21 22 23 24
B F O = H D T feEm Imid BT REHM LT FEXI0hH EX TG HABXKM| #BERX
DRI L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
oAy, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0.0006
1, 2—<oonx4y < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—syanxFLy < 0.002 < 0.002 < 0.002 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vz2—12—ssanzFLy | 0.004 < 0.004 < 0.004 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—r)pooz4e[< 0.0005 < 0.0005 < 0.0005 0.0022 0.0020 < 0.0005 0.0027 < 0.0005
1,1,2—r)pooz4e < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
k)oanxTFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.015 < 0.002
ThZyOOTFL 2 |< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 0.0068 < 0.0005
1,3—<yna7oxy|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FI5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IV < 0.0003 < 0.0003 < 0.0003 < 0.0003 0.0003 < 0.0003 < 0.0003 < 0.0003
FAARAILT  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
BERMERRUERBEEER 2.0 2.1 2.8 7.2 0.35 0.02 6.8 9.3
SoFE < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
ESES 0.02 0.03 0.04 0.04 < 0.02 < 0.02 0.03 < 0.02




TR1I1EE

No. 25 26 27 28 29 30 31 32
Bl F o wAEX wREBEX X )X X X INEFH HELHEM
ARSH L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 0.006 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
THoOomiay < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—>ooax4[< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—4aazFLy (< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
sz—12-sonnzFLy |< 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—ryraoz4s[< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2—rysaooz4s[< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
N)ZOoOIFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Fr57aaITFL2 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3—4san7a~o[< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FISL < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
RO < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FARAILD  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WMMEEERUENBEESR 13 6.5 0.20 < 0.01 < 0.01 < 0.01 2.4 42
SoFE < 0.08 < 0.08 < 0.08 0.13 < 0.08 < 0.08 0.04 < 0.08
ESES < 0.02 < 0.02 < 0.02 0.20 0.03 < 0.02 < 0.02 0.04




TR1I1EE

No. 33 34 35 36 37 38 39 40
B E O = HEHHFTH ST Al EnFm INETH HES REHT i X
DRI L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041 < 041 < 01
£n < 0.005 < 0.005 < 0.005 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
oAy, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 0.0002 < 0.0002
1, 2—<oonx4y < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—syanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vz2—12—ssanzFLy | 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—r)pooz4e[< 0.0005 0.0005 < 0.0005 < 0.0005 0.0016 0.0029 < 0.0005 < 0.0005
1,1,2—r)pooz4e < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
k)oanxTFL 2 |< 0.002 < 0.002 < 0.002 0.002 0.009 0.004 0.010 < 0.002
ThZyOOTFL 2 |< 0.0005 < 0.0005 < 0.0005 0.0047 0.0031 0.0005 0.024 < 0.0005
1,3—<soa7axa|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FI5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FAARAILT  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
BERMERRUERBEEER 8.9 2.1 1.4 8.1 7.1 5.9 6.1 12
SDOFR < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
ESES 0.05 0.03 < 0.02 0.05 0.04 0.03 0.05 < 0.02




TR1I1EE

No. 41 42 43 44 45 46 47 48
A F OB o= e X SEX XEX BERX B IRJIX A IHERX
DRI L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 01 < 01 < 01 < 01 < 01 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
R < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.018 < 0.005 0.008
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
oAy, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—<4ooox4|< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—=ysaaxFLr < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
sz2—12—ssmozFLy | 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
11,1—r)»oax4>|< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
11,2—kr)ponx4|< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
K)oooxTFL 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThSHYOOTFLY 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3—24onn7axy|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FI5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FAARAILT  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WML ERRUERBLEES 2.3 7.0 23 11 0.13 < 0.01 - -
SDOFR < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 0.08 - -
ESES < 0.02 0.05 0.07 0.05 0.05 0.22 - -




TR1I1EE

No. 49 50 51 52 53 54 55 56
Bl F o IR J\EFTH J\EFTH J\EFTH I\NEFTH HEm Eirm [Skaakit]
ARSH L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
THoOomiay < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—>ooax4[< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—4aazFLy (< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
sz—12-sonnzFLy |< 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
111—rysooz4e|< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 0.0006 < 0.0005 < 0.0005
112—rysaoz4s|< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
N)ZOoOIFL 2 |< 0.002 < 0.002 < 0.002 0.006 < 0.002 < 0.002 0.008 < 0.002
Fr57aaITFL2 < 0.0005 < 0.0005 < 0.0005 0.0075 < 0.0005 < 0.0005 0.0006 < 0.0005
1,3—4san7a~o[< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FISL < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
RO < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FARAILD  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R ERRUERBEESR 0.01 3.1 2.4 7.4 6.1 42 5.6 40
SoFE < 0.08 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
ESES 0.02 0.01 0.01 0.03 < 0.01 0.03 0.04 0.02




TR1I1EE

No. 57 58 59 60 61 62 63 64
Bl F o =Emh =fEmh i X X EARX EX FREHRX hRX
ARSH L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.021
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 0.005 < 0.005 < 0.005 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
THoOomiay < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—>ooax4[< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—4aazFLy (< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
sz—12-sonnzFLy |< 0.004 < 0.004 < 0.004 0.007 < 0.004 < 0.004 < 0.004 < 0.004
111—rysooz4e|< 0.0005 0.0010 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
112—rysaoz4s|< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
N)ZOoOIFL|  0.002 0.011 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Fr57aaITFL2 < 0.0005 0.0005 0.010 0.0010 < 0.0005 0.0052 < 0.0005 < 0.0005
1,3—4san7a~o[< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FISL < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
RO < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FARAILD  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
wEnzzrvammtzs < 0.01 8.2 6.3 2.1 < 0.01 7.1 0.11 0.01
SoFE < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08
ESES < 0.02 0.04 < 0.02 0.04 0.03 < 0.02 0.03 0.14




TR1I1EE

No. 65 66 67 68 69 70 71 72
Al F O = IR TR HE J\EF J\EFmh J\EFmh J\EFmh ZEM
DRI L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
oAy, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—<oonx4y < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—syanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vz2—12—ssanzFLy | 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—r)pooz4e[< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2—r)pooz4e < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
k)oanxTFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZyOOTFL 2 |< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3—<yna7oxy|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FI5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FAARAILT  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
mEmtzzrvEmmsrzs (< 0.01 < 0.01 - 2.0 5.6 0.52 1.4 0.06
SoFE 0.18 0.10 - 0.20 0.05 0.07 < 0.02 < 0.08
ESES 0.42 0.16 - < 0.01 < 0.01 0.01 < 0.01 < 0.02




TR1I1EE

No. 73 74 75 76 77 78 79 80
Bl F o Hay HEdh BRIt HHAX HHAX EARX BTHT™ JI\EFTH
ARSH L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
THoOomiay < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—>ooax4[< 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—4aazFLy (< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
sz—12-sonnzFLy |< 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
111—rysooz4e|< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
112—rysaoz4s|< 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
N)ZOoOIFL 2 |< 0.002 < 0.002 0.024 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Fr57aaITFL2 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3—4san7a~o[< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FISL < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
RO < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FARAILD  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R ERRUERBEESR 0.15 40 0.22 6.9 13 12 0.63 1.9
SoFE < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 0.08
ESES < 0.02 0.04 0.07 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02




TR1I1EE

(mg.”L)
No. 81 82 83 84 85 86 87 88
Al F oM = BTHT™ HTHET™ Hayh HHAX SIS HTH™ KHRX HTEHT™
DRI L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
2T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£n < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
aNiZ=PN < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
e < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
K ER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7L )L IKER < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
PCB < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
CHAOARY, < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
RS < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1, 2—<oonx4y < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
11—syanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vz2—12—ssanzFLy | 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1—r)pooz4e[< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2—r)pooz4e < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
k)oanxTFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZyOOTFL 2 |< 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,3—<yna7oxy|< 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
FI5L < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
IV < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FAARAILT  [< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oy < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WRMERERUERSBLER 0.01 0.08 0.99 6.6 0.77 0.01 0.26 9.5
SoFE 0.12 0.14 < 0.08 < 0.08 < 0.08 0.13 0.13 < 0.08
ESES < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 0.09 < 0.02




ERITEEFLEHFRADMRAE Al BIEiFER
1 REFm (mg L)
1.1—<400 R—12— 111—R)SH kyoooxTF FrSHOOxT
No. SR TE Hh g1 IFLY JaaIFLy| apIsy Ly FLo
1| EEEH [< 0.002 < 0.004 0.0006 0.015 0.042
2| BB [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
3B EFm [< 0.002 < 0.004 0.0009 0.027 0.014
4|l HKE B [< 0.002 < 0.004 0.0009 0.022 0.020
5| HE T (< 0.002 < 0.004 0.0007 0.015 0.024
6| BB [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
7| B [< 0.002 < 0.004 0.0009 0.016 0.030
8|Hm B [< 0.002 < 0.004 0.0010 0.016 0.028
9| KB [< 0.002 < 0.004 0.0005 0.007 0.018
10| BB [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
11| HEEH [< 0.002 < 0.004 0.0006 0.015 0.038
12| @B [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
13| KB h [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
14| KB B [< 0.002 < 0.004 0.0009 0.024 0.010
15| BB [< 0.002 < 0.004 0.0006 0.020 0.0058
16| KB Erh [< 0.002 0.005 0.0006 0.018 0.021
17| B H [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
18| K@ Erh [< 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
19| KB Eh [< 0.002 < 0.004 < 0.0005 0.004 0.0045
20| E B [< 0.002 < 0.004 0.0008 0.015 0.013
21| RE %™ [< 0.002 < 0.004 < 0.0005 0.002 0.0046
22| HK B [< 0.002 < 0.004 < 0.0005 0.004 0.0093
2 EAKX (mg L)
WEREEEZERC
No. 3B TE #h i EREEER
RIS 13
2[ERX 7.1
ERKX 3.1
4[EBRX 0.45
5[BEAX 2.1
6K 0.64
1EBX 0.52
3 XEKX (mg L)
EREEERLS
No. S TE #h 2 EREEER
1 XRERX 11
2[3EX 34
3[XERX 4.6
4[3EX 10
5[ FERX 19
6[3FEX 1.3
7|XERX 16
83 FEKX 9.8
9[> FEX 1.3




4 FiAiX (mg.L)
WEEEERO |
No. 3B 7E 3h i EREEER
1|23 X 34
2[RZ i X 0.32
RIERid=s 3.2
4[R2 [X 5.7
5423 X 7.3
6[#2 i X 7.2
724X 7.4
8|2l X 7.3
5 8HKX (mg L)
WBEEZZRC
No. S8 7E 3h HREMLESR
11EERRX 0.64
2[EERK 9.1
JEERX 6.4
4 EERX 0.69
5[EEKX 3.3
6l EERX 0.21
6 HHARX (mg. L)
WREEEZERC
No. 3B TE #h i EREEER
1[tHAAX 13
20IHARR 15
JHAARRX 3.3
AHARR 4.6
5[ HARRX 8.8
6l HARR 12
7HEAX 14
[ HARR 3.8
I[HAARRK 10
10[HAAX KX 5.9
11[HAAX 8.1
12[HAAKX 4.1
13[tHAA X 4.9
14[{HAAX X 7.2
15[tHAA X 5.6
16[HHAAXKX 11
17[HHASX 16
18[HHAA KX 12
19[tHAA KX 6.2
20/ tHEAAR K 2.8
21[fHAA K 10
2|tHAXK 11
23[HHAAK 10
4| tHARK 6.1
25[fHAAK 4.6




7 REBEX (mg. L)

WEEES
No. S8 7E 3h ﬁﬁﬁ%ﬂ&zéu
1EHEERX 45
EERX 11
3[IRIEEX 95
4 REEX 4.4
5[IRIEX 0.21
6[IRIEX 12
1| HRIEX 9.2
REREE 0.17
9[RIEX 6.6
10| #RIBX 10
8 JIFIJIX (mg. L)
No. S 7E #h i fitR
1GIRNIIX 0.003
2RI 0.002
IR 0.003
4 IR 0.004
5FIFRIJIIX 0.002
IR 0.001
IR NIIX 0.003
9 hREX (mg L)
No. SEIE Hh S fn
1hREX 0.006
2[h X [< 0.005
3[hRX  [< 0.005




RV EEEHRE=2) OV ATREH[BRIERER

(mg.”L)
SRX—12— 1,1,1—Fk1)
11—o490 sHOoQITF == r)oooxT | FhZoA0
No. [BIEHh S £ it migfkREK| OIFLY Ly > FLV IFLY
1| &EHeh - - < 0.0002 < _0.002 0.007 < 0.0005 0.008 0.055
AR - - < 0.0002 < _0.002 < 0.004 <_0.0005 < 0.002 0.0046
3| I AE AT - - < 0.0002 < 0.002 < 0.004 0.0013 0.010 0.0050
4| BIIX - 0.013 - - - - - -
5[F%™H - - < 0.0002 0.006 < 0.004 0.028 0.034 0.0016
6 | Tt BT - - < 0.0002 < _0.002 < 0.004 0.0095 0.050 0.0023
1| HRIEX - - 0.0042 < _0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
SHEX - - - < _0.002 < 0.004 < 0.0005 0.008 0.0049
9[IRIBEX - - - < _0.002 < 0.004 0.0012 0.017 0.0011
10[HR1BX - - - 0.002 < 0.004 0.0005 0.088 0.17
NI - 0.024 - - - - - -
12l®REFLH] - - < 0.0002 < _0.002 < 0.004 < 0.0005 < 0.002 0.045
13[®REFLH] - - < 0.0002 < _0.002 0.004 0.016 0.048 0.003
14| REsFLm | - - 0.0015 < _0.002 0.007 0.012 0.042 0.0038
[HE®N L - - < 0.0002 < _0.002 < 0.004 0.0043 < 0.002 0.0037
16| =+ U - - < 0.0002 < _0.002 < 0.004 < 0.0005 0.026 < 0.0005
17[EAB*XH] - - < 0.0002 < 0.002 < 0.004 0.0026 < 0.002 0.010
18|EAE kT - - < 0.0002 < 0.002 < 0.004 0.0048 0.006 0.062
19|FEAERT| - - < 0.0002 < 0.002 < 0.004 0.0049 0.008 0.091
20|RAREKM | - - < 0.0002 < 0.002 < 0.004 0.0049 0.023 0.0026
20| RARBKT | - - < 0.0002 < 0.002 < 0.004 0.0021 0.020 0.0042
2|REH - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0009
23|HEH - - < 0.0002 < 0.002 < 0.004 0.0030 0.017 < 0.0005
24| HEH - - < 0.0002 < 0.002 < 0.004 0.0011 < 0.002 < 0.0005
BFEX - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0006
26| A0 - - < 0.0002 < 0.002 0.005 0.0019 0.015 0.0006
27| K0 - - < 0.0002 0.002 0.004 0.0025 0.043 < 0.0005
28| AF0H - - < 0.0002 < 0.002 < 0.004 0.0022 < 0.002 0.0005
29|/ ETH - - < 0.0002 < 0.002 < 0.004 0.0034 0.012 0.0018
KNESNIL - - < 0.0002 0.002 0.004 0.011 0.017 0.0012
|]REAT - - < 0.0002 < 0.002 < 0.004 0.0041 0.024 0.044
RFEX - - < 0.0002 0.002 < 0.004 0.0037 0.021 0.037
BFEX 0.001 - < 0.0002 0.002 0.40 < 0.0005 < 0.002 < 0.0005
HUEFEX 0.001 - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
35|37 )IIth - - 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
36|37 )IIth - - 0.011 < 0.002 < 0.004 < 0.0005 0.005 < 0.0005
N EnFH - - < 0.0002 < 0.002 < 0.004 0.0006 0.003 0.015
38|/METH - - < 0.0002 < 0.002 < 0.004 0.0048 0.013 0.0028
9|/NEHTH - - < 0.0002 < 0.002 < 0.004 0.0011 0.009 0.080
40/MEHH - - < 0.0002 < 0.002 < 0.004 0.0007 0.007 0.033
M|/IhEHT - - < 0.0002 < 0.002 < 0.004 0.0018 0.009 0.078
Q|RATH - - < 0.0002 < 0.002 < 0.004 0.0016 0.011 0.076
43| R T - - < 0.0002 < 0.002 < 0.004 0.0007 0.011 0.058
44| R B - - < 0.0002 < 0.002 < 0.004 0.0011 0.011 0.048
45| KRB Eh - - < 0.0002 < 0.002 < 0.004 0.0008 0.015 0.025
46| R B Eh - - < 0.0002 < 0.002 < 0.004 0.0013 0.010 0.041
47X - - - < 0.002 < 0.004 0.0013 0.018 0.010
48| R Eh - - < 0.0002 < 0.002 < 0.004 0.0005 0.013 0.0029
49| XREX - - 0.0007 0.058 < 0.004 0.044 < 0.002 < 0.0005
50| XREX - - 0.0005 0.066 < 0.004 0.040 < 0.002 < 0.0005
51|37)Ith - - 0.0003 < 0.002 0.015 0.0008 0.074 < 0.0005
52|37 )IIth - - < 0.0002 < 0.002 < 0.004 0.0006 0.008 0.0078
53| FFdhth - - 0.0006 0.042 < 0.004 0.010 0.10 < 0.0005
54|FFdath - - 0.0008 0.002 0.010 0.0008 0.057 0.0006
55|E 9 FH - - 0.0005 < 0.002 < 0.004 < 0.0005 0.10 0.0015
56| E S ¥ - - < 0.0002 < 0.002 < 0.004 0.0009 0.003 0.0042
57/hE&HTH - - < 0.0002 < 0.002 < 0.004 0.0023 0.015 < 0.0005
58| =& - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.007 0.035
50| R EF T - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0010
60| KB EF T - - < 0.0002 < 0.002 < 0.004 0.0010 0.017 0.028
61| REEFH - - < 0.0002 < 0.002 < 0.004 0.0005 0.016 0.033
62| KB BT - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
63| RKX 0.001 - - - - - - -
64|/\EFmh - - < 0.0002 < 0.002 < 0.004 0.0036 0.04 0.0055
65|/\EFmh - - < 0.0002 < 0.002 < 0.004 0.0016 0.004 < 0.0002
66 /\EFH - - < 0.0002 < 0.002 < 0.004 0.0013 0.014 0.0003
67|E3Lh - - < 0.0002 < 0.002 < 0.004 0.0013 0.008 0.029
68|E 3L h - - < 0.0002 < 0.002 0.005 0.0011 0.008 0.072
69|E 3L h - - < 0.0002 < 0.002 0.008 0.0011 0.010 0.11
70|E 3L h - - < 0.0002 < 0.002 < 0.004 0.0012 0.010 0.013
GG - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.012 0.0043




(mg.”L)

SRX—12— 1,1,1—Fk1)
11—=>40 soonIF| YBOAIA r)ooox | Fh300
No. |BI%E#h R £n At migfbkE| BIFLY L v FLv IFLY
12|FFdh - - 0.0002 < 0.002 0.006 0.0008 0.053 0.0005
13 = ETH - - < 0.0002 < 0.002 < 0.004 0.0010 0.034 0.0087
IE G - - < 0.0002 < 0.002 < 0.004 0.0006 0.016 0.0091
75 = ETH - - 0.0003 < 0.002 < 0.004 0.0009 0.023 0.017
76| =ESH - - < 0.0002 < 0.002 < 0.004 0.0005 0.008 0.009
HIE G - - 0.0004 < 0.002 < 0.004 0.0015 0.026 0.042
T8[tHHEHAX - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
I[EHEHAX - - - < 0.002 < 0.004 0.0071 < 0.002 0.36
80[=fE™ - - < 0.0002 < 0.002 < 0.004 0.0014 0.016 0.0010
81|#2ib X - - - < 0.002 < 0.004 0.0024 0.006 0.12
82|#z it [X - - - < 0.002 < 0.004 < 0.0005 < 0.002 0.0052
83|FTBEX - - - < 0.002 < 0.004 < 0.0005 < 0.002 0.0033
84[/\EF1h - - < 0.0002 < 0.002 < 0.004 0.0002 0.002 0.0054
85[/\EF1h - - < 0.0002 < 0.002 < 0.004 0.0002 0.002 0.0051
86[/\EFTh - - < 0.0002 < 0.002 < 0.004 0.0002 0.002 0.0051
87[/\EF1h - - < 0.0002 < 0.002 < 0.004 < 0.0002 0.004 0.0007
88|/\EF1h - - < 0.0002 < 0.002 < 0.004 0.0050 0.054 0.0024
89[/\EFTh - - < 0.0002 < 0.002 < 0.004 0.0056 0.029 0.0048
90| B ¥ - - < 0.0002 0.006 0.074 0.015 0.065 0.021
91|H¥mH - - < 0.0002 0.003 0.010 0.0048 0.17 0.010
92|fFdth - - < 0.0002 < 0.002 < 0.004 0.0005 0.006 0.0021
93|E@4Th - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 < 0.0005
94|3@4Th - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0051
95384 Th - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.019
96T - - < 0.0002 < 0.002 0.034 < 0.0005 0.040 < 0.0005
97/3a:Ih - - < 0.0002 < 0.002 < 0.004 0.0008 0.012 0.0069
98[tHHAX - - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.46
9[tHHEABX - - - < 0.002 < 0.004 < 0.0005 < 0.002 0.0045
100[H AKX - - - < 0.002 < 0.004 < 0.0005 < 0.002 0.0021
1018 - - < 0.0002 < 0.002 < 0.004 0.0013 < 0.002 0.014
102[fHEHA KX - - - < 0.002 < 0.004 < 0.0005 < 0.002 0.010
103[fHEA KX - - - < 0.002 0.19 < 0.0005 0.012 0.036
14|BERX - - - < 0.002 0.016 < 0.0005 0.006 0.55
105|JR;I™h - - < 0.0002 < 0.002 0.008 0.0009 0.008 0.055
106|JR;IH - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.020 < 0.0005
107|JR;I - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.020
108[HAARRK < 0.001 - - - - - - =
109|RTHET™ - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.0056
110/ KHAKX - = - 0.030 0.096 0.0014 0.021 0.21
111 | KEAKX - = - 0.016 0.27 0.0053 0.084 0.0098
12| KAKX - = - 0.018 0.16 0.0045 0.037 0.38
13| KAKX - - - < 0.002 0.10 < 0.0005 < 0.002 < 0.0005
114| KAKX - = - < 0.002 0.019 < 0.0005 0.10 0.0013
115|HTH™ - - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 < 0.0005
116|HTHT™ - - < 0.0002 < 0.002 < 0.004 0.0098 0.048 < 0.0005
117|BTH™ - - < 0.0002 < 0.002 0.006 0.014 0.078 0.0008
118|HTH™ - - < 0.0002 < 0.002 0.004 0.0090 0.11 0.0029
TRENELDILDIE

* BLIRE TAIE

CAEREDENIESBD,




